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N.B.: (1) Question No 1 is Compulsory. vl

(2) Attempt any three questions out ‘of the remammg ﬁve
(3) All questions carry equal marks -~ r

(4) Assume suitable data, ‘,1tfﬂrequ1red>_ state it,:\c,jl%éarly.

1 Attempt any FOUR - ol

[20]

a  Explain the concept of da :1ndependence Discuss the dlfferences between [5 ]

logical and physmal data 1ndependence :

b Descrlbe Weak entlty Prov1de an example of Weak entlty and strong entity. [5]

c List and bneﬂy explam SQL aggregate functions w1th suitable examples - [5]

d Explam the concept of First Normal Fonn (lNF) Give example for the same. [5]

e Discuss conﬂlct senahzab1hty w1th sultable example : 5]
2-a Descnbe the overall archltecture of DBMS w1th sultable diagram [10]

b What is deadlock‘7 Explaln walt die and wound-walt methods with suitable [10]

example.%. :
, 3 a Draw an E-R dlagram for hbrary management system Convert it into relat1onal [10]

‘schema 4_1»;»;%"’ A0 oo Rl g
: b Explam the followmg Relat1onal Algebra operatlons W1th suitable example. [10]

N 71 Project 2) Select
3)%Un10n 4) &ename
5) Set difference
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4 a Consider the following employee databaSe

Employee (empname, street, city, date of _)ommg)

Works (empname, company_! name,salary)

Company (company_name, c1 S )"‘

Write SQL queries for the followmg statements
1. Modify the database so that ‘John’

Find all employees who Jomed i he month of October >

now hves in. ‘Mumba1

2
3. Giveall employees of ABC Corporat1on a 10% ralse \
4

Find all employees who eamn more than average salary of all employees P

of their company

5. List name of companies starting-with letter ““A”

b Why there is need of normalization? Explain 1NF, 2NF;3NF and BCNF with

example:

5 a Descrlbe ACID properties with examples ’

b Explain Lock based (ZPL) concurrency control method with example

6 Write short note on the followmg(Any four)

a Convers1on of Specialization to relat10nal schema w1th suitable example
b | Log based recovery "

¢ Roleof DBA

d Triggers

e Types ofattributes
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42559 & Page 2 of 2

DE8B7A2298E39A4E9B9E98DE6FOCB847

~T10)

[10]




